1. Rickey paid $8 for each of the 2 drawings that he bought while Laura paid $10 for a single T-shirt.
Who paid more?

A. Rickey
B. Laura

C. Both paid the same amount of money




Try Again



Correct Go to the Next Question




2. Abby paid 10 S for a movie ticket. Helen spent 2 S for each of the 6 pens that he bought. Who
spent more?

A. Abby
B. Helen

C. Both spent the same amount of money




Try Again



Correct Go to the Next Question




3. Tyson paid $9 S for each of the three ornaments that she bought while Steve paid $8 for each of
the three hats that he bought. Who paid more?

A. Tyson
B. Steve

C. Both paid the same amount of money.




Try Again



Correct Go to the Next Question




4. Ricky paid $3 for each of the seven postcards that he bought while Tina paid $10 for a necklace.
Who paid more?

A. Ricky
B. Tina

C. Both paid the same amount of money.




Try Again



Correct Go to the Next Question




5. Ann paid S9 for each of the four earrings that she bought while Beth paid $8 for each of the four
earrings that he bought. Who paid more?
A. Ann
B. Beth
C. Both paid the same amount of money.




Try Again



Correct



